3x + 4y = −5

5x + 6y = −7

Solution: 3x + 4y = −5   -((1)
               5x + 6y = −7   --((2)

Multiply 1st equation by 5 and 2nd equation by -3 and subtracting then
we get 

         5 * [3x+4y=-5    

          3* [5x+6y =-7
Now adding the two equations 

         15x +20y =-25

       -  15x-18y =+21  
      --------------------
         0x +2y = -4

             y= -2

Substituting the value of y in eq (1). We get

3 x +4(-2) =-5

3x -8=-5

3x= 3

x=1
Therefore the solution is x=1,   y= -2
Checking the answer:

Substituting the values of x and y in equation (2)
5x+6y=-7

5(1)+6(-2) =-7

5 -12 =-7

-7=-7

That’s true
